3 (Sem-6) HISM 3
2020
HISTORY
( Major )
Paper : 6.3
[ History of Europe (1871-1945) |
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions in I word or
in 1 sentence each : 1x7=7

oo W] 2RI 2SR Tea Gt *Fr 7 Gl S
fora

(@) Who was the first President of the Third
French Republic?

T T AR 22T TS @ SN 2

(b) Who was Emile Zola?
GRS I T e 2

() Name the signatories of the Triple
Alliance.

faeaal i FrwgeReTeers =W fa |

(d) Who wrote Mein Kampf?
‘G @9 @I @R 2
20A /754 ( Turn Over )



(2) (3)

(e) Who was known as the ‘honest broker’ in 3. Write short notes on (any three) : 5x3=15
¥ b 5
the Congress of Berlin in 1878,. 5y Srel Bt (R R -
Stab 59 Jifef FLARS TCAE IPR’ACH 4O '
e F 2 (a) Boulangist Movement
(/) Who declared himself to be ‘the prisoner TR ST
in the Vatican’ (b) Treaty of Lausanne
@I s ‘csioema 79 e camen sRfee 2 <o B
(9) Whloax;ris the founder of the Fascist Party () Rome-Berlin-Tokyo Axis Power
in It Y ] ]
@E-fEq-5° e s «fe
2oifere @2 we AP (F1 Hifee 2
(d) Locarno Pact
I pfe
2. Answer the following in brief : 2x4=8 2
ﬁﬁ%ﬁ@ W E‘*]\W fg‘fm " (e) Benito Mussolini

@ P

(a) Who were Depretis and Crispi?

4. Answer any three of the following questions :
fefaifbr s ol o it 2
o 10x3=30

(b) Write two provisions of the ‘Algeciras RRIRIRCELPES R e fofbm Tes for :

Conf % 12k : !

TSRS (a) Critically analyze the internal policy of

‘Algeciras A9 0 771 for4 | Bismarck.
(c) What were the two important objectives [oards el e AT T

of the League of Nations? H[9[CETET |

SR 701 @Y f ST & 2 (b) Under what circumstances did Russia

sign the ‘Non-Aggression Pact’ with
Germany in 1939?

& o1 21912F qMCEE FHHB GEAE AT dved
59 SHIGHNS e’ 53} SRR 2

(d) Name the two leaders of the Bolshevik
Revolution in Russia.

o qecfos Re@s yom Grom =19 fos |
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(4)

(c) Account for the rise of Fascism in Italy in
the post-World War I period.

42 fomd 198! Flere Boifere @ head S
PR ~ATCEAD 41 |

(d) Account for the success of Bolshevik
Revolution in Russia in 1917.

NP R E B 21 A G 4= o I e M b O
RS <47 |

(e) “Berlin Congress created more problems

than it solved.” Justify the statement.

‘“qifef A TEW SEE - [T A4S
PR i sRfeE 1 Sfenr e aw
391 |

() Examine the role of United States of
America in the Second World War.

2l frgae e Texiga s “Rficama
0 |
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